LRALIBREER D# i EIRIZRE T S0 8% A X L FRALIE LS
TR 30 FE

1T EHCEDBASHRUVHE
iz | A 4 [ 5] 6 [ 7 | 81 9 [10] 11 ] 12]°1 2 | 3 | FE5t
LR a8 879 930 906 945 1,001 808 961 865 1,009 171 758 848|| 10,687
LR t ||2,527.07|2,672.18]2,597.34(2,712.92|2,932.34(2,239.85(2,744.19|2,347.61 2,979.33]| 2,200.45( 2,044.81] 2,301.98| 30,300.07
L E R =1 270 264 271 293 194 315 306 332 125 244 316 345 3,281
! i IR 781.07] 770.33] 803.16] 877.45] 556.34] 902.51{ 912.64| 954.57| 351.93| 710.50| 911.68] 979.02)| 9,511.20
£t a 1,149] 1,194] 1,183 1,238 1,195 1,123 1,267 1,197 1,134 1,021 1,074 1,193 13,968
5 t ||3,308.14]3,442.51]3,400.50( 3,590.37| 3,488.68| 3,142.36 3,656.83| 3,302.18| 3,331.26|2,910.95(2,956.49 3,281.00" 39,811.27

2 WFRIKKESHIER

(BRAIE)
[ STEDNZ | Bfy | ZEB |48 |58 | 6H | 78 [ 8A | OA [10A|11A[12A] 1A | 2H | 38
KFRAFRE|pH 58~86] 71| 70| 68 70 69] 73] 68 64] 60 71 69 7.0

EMFHBRRERE|mg/L 20LLF 53| 46] 22 80| 83 83] 86 1.4 0.55&;&% 25 40 06

EEHBEERE|mg/L 1604 26 33 40 35 35 36 44 44 49 23 25 24

FHEYESE |mg/L J0LLTF 18 13 2 9 13 7 19 2 6 8 7 5
B AA > Img/L - 65 140] 120 190[ 190 110] 100] 1oo] 70[ 91| 170 80
BERIEEE [ms/m 250 230 190[ 190[ 190| 170] 150 ot 88 140 230] 190

KiEEEEER |{8/cm J3000LLF 0 0 0 0 0 0 0 0 0 0 0 0
EF2H= |me/L - 200 190] 190[ 170[ 130 10o| 140 74 91 150] 200 210

BEEE |me/L - 1.90] 0.90] 0.35] 1.20[ 1.30] 4.70] 0.68] 0.12] 0.15] 0.60] 0.84] 0.44
BE E | - 83 66] 71[ 75| 1oo] 43] 61| 24 20 44] 94 52
=] 4H248|588H|6A58|7838|8A78|984R]|10A28|11868|12A48|1 B8R ]|2A128|3A5H

3 MK ZEBE DR (BRKKESFICMATTRIEBZ2HT)
(F2ERFE 7. 18

SEONR | By | BEE |48 |5A | 6A |78 |88 | 94 [10A|118|12A| 18 | 28 | 38
iR EA A E|mg/L 0T | - - - [1Xi& - - - - -1 - -
ToE=THER|mg/L - - - - 160 - - - - -1 100 - -
HHEBEER|meg/L — — — — 5.70 - - - - -[ 256 — —

WHEREER |me/L - - - - [ 094 - - - - - o8] [ -
TUEST.TUECTIE R
. BRI AR |mg/L - - - - A - - - - -| 43 - -

UHHEILEY
Jx/—)L$E [mg/L 5LLTF - - N IRES - - - - —lo1%i - -
[ BREEE |me/L 3L - - — |oorxiE - - - - —[oorxiE - -

BINEESE |me/L 2T | - - - [ 002 - - - - - 0.02 - -
BREMHKEEE|mg/L 10T | - - - 0.07 — — - - -| 0.09 — —
BREwLvaEE|mg/L 10LLF - - - 0.03 - - - - -| 0.02 - -
JOLEHRE |mg/L 2LLF - - — [ootx& = - - - —[ooixm - -
LR MMEE®|meg/L 0.03LLF - - — | 0.003KiE - - - - — | 0.003% - -
LT EEY me/L 1R - - i LAES - - - - —| 0.1 - -
ARBEIEEY|me/L 1T | - - B EES - - - = BES — —
BERVCEED|me/L JOILT| - - e - - - - “loorwm - =
Afiva Lt E%Img/L 05LLF - - e - - - - o LES - -
HEEVIEEW|me/L 0.1LLF - - — | oooskis - - - - — [ 00055k - -
KEBRUTILFIL
7J<£E%1€>A1ﬂig>7kﬁﬁ mg/L  |0.005LLF| - - - |oovossim - - - - — [ o005k - -
[F5RBRTIEEY|mg/L 10LLF - - - 0.06 - - - - -[ 0.05 - -
SoRBRUMEEMImg/L 8L - - - |01k - - - - BRES - -

¥ EYH — - - |7838] - — - - - 11AsH| - -

4 [FVERIERER
(F2EAE 68, 128)
STE0Ox% | Bfu |48 |68 |68 | 7B [ 8H | 9A |10A|11H[12B] 1B [ 2A | 3H

TV CAEE |[¢/mMN - — [ooi®m| - - - REE - -
BEBIEYERE]ppm - - [1xiE - - - - - 22 - - -
ERRIEYEE]ppm - - 15 - - - - - 9 - - -

FRERH - - |6A5H - - - - - |1284R — — _




5 ELRKEDTHER

(F3EAE 5. 98.18) _ _ _ _ _ _ _ _ _

EJr%@%T_% B 48[ 5A 6B 781 8A |1 9A [10A[11A[12B] 1A | 28 | 3A
KFEAFEE|pH - 79| - - - 71 - = = 76| - =
EERBRERE|mg/L - [7,200] - - - [8500] - - - | 8000] - -
Tt ZMEEREERE|mg/L - [2,200] - - - 1,900 - - - [2500] - -

FEYE=s |me/L - [9,100] - - - [12,000] - - - [2800] - =

ER2EH=E |mg/L - [1,300] - - - 4800 - - - [1,200] - -

Heas  |me/L - 120 - - - 220 - - - 170 - -
EFEEREY |mg/L - 10400 - - - 14,000 - - - 4700 - -
SREAGR Y |me/L - [3200] - — - [4800] - - - [2200] - -
H#EmA|] - [5As8] - - — [9B4R[ - - - [1BsA| - -
6 FRBtEKESTRER
(Z£3EAIE 58.98.18)
j%om‘_% By 48[ 5A 6B [ 781 8A [ 9A [10B[11A[12B] 1B | 28 [ 3A
KEAFEE|pH - 85| - - - 82| - = = 80| - =
EENBRERE|mg/L - [2200] - - - 3400 - - - | 3500 - -
L ZMBmRERE|mg/L - 780 - - - 770 - - - 920 - -
FENESE |me/L - [1,000] - - - 970] - - - 680] - -
ER2HE |mg/L - [1,600] - - - [2800] - - - [2,000] - =
HEasE  |me/L - 120 - - - 110 - - - 280 - -

ZFEZEEY |meg/L - [4600] - - - [3900] - - - [4800] - =

| SREVREEY |me/L -_|1.600[ - - -_|2900[ - - -_|1.300 - -
B - [58s8] - - - |e9g4BR| - - - |1AsA| - -

7 BRKEBREBHAITER

(F1EAIE 68)

H=DOxiz | #2i |48 |58 168 | /H | 8A | 98 |[10A|11A]128] 1A | 2R | 38
7ILEILKBIEEM|mg/L - —  [oooskim| - - - - - - - - -
KEEXIF{E & me/L - —  [oooskia] - - - - - - - - -
AIVLARIFEEY|me/L - - Jootkm| - - - - - - - - -
X (FIEEW|me/L - — [oorxm[ - - - — — — — - -
HHEEEY|me/L - i CAE ] - - - - - - - -
ANE/OLEEYImg/L - - |ootkiE[ - - - - - - - - -
MEXZIEED|me/L - — [oooskm| - - - - - - - - -
ST BB me/L | - | - Jo=ws - | - | - [ - | - [ - -1 -1~
RUEETz= )L mg/L - —  |ooooskm| — - - - - - - - -
r)oonTFLo|mg/L - - Jootkm[ - - - — — — — — —
ThIoaRTFLY mg/L - - |oorkm| - - - - - - - - -
oyaooXiay Img/L = — ook - = - - - - - - —

migfbmzEx [me/L - — [oonkm| - - - - - - - - =
1,2->4a0x4>|mg/L - —  |oooskim| - - - - - - - - -
1,1->90aI4  mg/L - - ook - - - - - - - - -
YZ-1.2-Y"9a017bymg/L - - |ooakim| - - - - - - - - -
1,1,1-bJ90014Y|mg/L - - o3k - - - - - - _ _ -
1,1,2-M)40014Y|mg/L - — Joovsskim| - - — _ - Z - = -
1,3-%"9807°'8A U mg/L - - |ooozkim| - - - Z Z Z - = -

F5L  Img/L - —  |oovskm| - - - - - - - - -
2Ty |me/L - - [ooosm| - - - - - - - - -
FARUAIL T mg/L - — [oozkm| - - - - — — — - -
Ryt mg/L - — |ootkiE| - - - - - - - - -
Lo XIFEEB|meg/L - — [oooskm| - - - - - - - - -
14-DAFH 2 me/L - - |ooski| - - - — — — — — —
FWRE]| - - [6B58] - = = = = = = - -




